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(p. 934)
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d(wXr
G e
= axr + oxv = axr + ox(oxr)
) 1lvk
//v
d (A% 5.11) (p. 943)

3 714 % 676 rad/s2 WA OA°l tlshe] 3]st} AolA & o

E Ad A
WA Ao 2 Sl dshe & u, g 1Bl £3tel] A B &£x¢ JtEEE T3tk
o= 6.76 rad/s, a= 0, vg =7, ap =7
OA =011i+0624j+ 024k (m), I0A] = v0.12+0.6242+0.242 = 0.676 (m)
u = = 0148 i + 0923 j + 0.355 k
o = = (6.76 rad/s)(0.148 i + 0923 j + 0355 k) = 1.00 1 + 6.24 j + 240 k (rad/s) ,
rg = 0101 + 0312 (m)
Vp = @ X Ip = i j k = -0.749 i + 0240 j - 0.312 k (m/s)

1.0 6.24 2.4

ap = axrg + oxvg = 0 + | i j k = 2521 - 149j + 491 k (m/s)

o

S| el 21 P /
HEE o = ok, 7SR a = ok €n
©>0 ; WA A 3A X
E£% v = oxr = (0k)x(-r e)) = ~or(kxe,) =
V=T
Ve a = axr + oxv = (ak)x(-r e) + (0k)x(roe) = -ra(kxe,) + ro’(kxe,)

a =1 a, an:rw2

o (A< 5.21) (p. 944)
Zwolo] ME o] FA o= A A2 J[AFEEC] 4 120 mme] T 8 & AWt
ok, AAlel w7k, A A9 L 9o F 300 mm/selH, tEEE QEX 07 180 mm/sPol )
(a) 7 Fg 9 &5 27hE %, (b) A BolA 7[AFEFS AA 7tEEE 3kt

rg = 0.12 m, Ve = va = 0.3 m/s<, (ap) = aa = 0.18 m/s"—
B _Ys _ 03 m/s 3 B
(a) vy = = w = ry 0d2m 2.5 rad/s w = 25 rad/s)
(aB)t, 0.18 m/s2 2
(ap), = = a = T Tolem 15 rad/s a = 1.5 rad/sC
(b) (ap), = = (012 m) (25 rad/s)® = 0.75 m/s”
ap = (ap?+ (ap)? = V(0.18m/s*)?+ (0.75 m/s2)* = 0.771 m/s’
_ (GB) 1 0.75
_ 1 noo_ 1Y- — o —
B = tan —(aB)t ta 018 76.5 ap
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[equations defining the rotation of a rigid body about a fixed axis] (p. 938)
5| 2 0 S E x
do dx
PN - av n I
o © - T
dw d*0 dv _ dz
27w = = = == EE = = = ==
A7k @ dt dt? r dt dt?
-} dv
(afu)do) (afvdx)
5% FALEFE a =0 TEE &5 a=0
0 =0)+ ot X =Xx0tvt
57 S AET o = €A SEE 2F a= YA
0= w *t at V=0 +tat
9:00+wot+éat2 x:xo+uot+éat2
o = oy + 20(0—6,) v =00t 2 a (x-xo)
oA 51 =z &% (p. 936)
d.(AF 56) (p. 942)
A7I|RE & 9ol FuHH 4% Fof 2400 rpme] FAAEE EdEstal, o] #olAW 40x
of Fxgttt. T7HE FEolegt 7HHEtA, (a) HASE =g wiztx] 2 oukd 3 Hds=A], (b)
TAAEEANA GRS 7HA 2 v 3] W s=A] AlAkste)
o1 = 2400 r/min = 2400 rev/min x ; = 40 rev/s
(60 s/min)
wo = 0, t=4s StEI A E
Wy — Wy (40rev/s)— 0 9
= BN = =
(a) w o, ; as) 10 rev/s
. w? — w? 2 _
o’ = = 0,— 0, = . L= (40 rev/s) 3 0 80 revolutions
204 2 (10 rev/s?)
B Wy T wy 0— (40rev/s) _ 2
(b) w2 = w1 + ast = ay = ; = (10s) = -1.0 rev/s
2 9 2
2 2 Wy — Wy 0— (40rev/s) .
0 = o1 t 205(0,—0;) = 0,— 0, = = = 800 revolutions
’ : 2 ! : ! 2 2(—1.0 rev/sz)




